



St. Louis County, Minnesota

Date of Report: 12/16/2025 1:48:00 AM

General Details

 Parcel ID:
 560-0010-00421

 Document:
 Abstract - 01310767

 December Parts:
 05/47/2017

Document Date: 05/17/2017

Legal Description Details

Plat Name: VERMILION LAKE

Section Township Range Lot Block

3 61 16 -

Description:THAT PART OF LOT 4 COMM 769.35 FT S OF NW CORNER ON W LINE AT SELY RW OF HWY #77 THENCE NE ALONG R/W 65.87 FT TO PT OF BEG THENCE N 30 DEG 28 MIN E 146.18 FT ALONG SAID R/W THENCE E 180

FT TO SHORELINE THENCE S ALONG SHORELINE 126 FT THENCE W 254 FT TO PT OF BEG

Taxpayer Details

Taxpayer Name LAKE VERMILION HOUSEBOATS INC

and Address: 9482 ANGUS RD
TOWER MN 55790

Owner Details

Owner Name LAKE VERMILION HOUSEBOATS INC

Payable 2025 Tax Summary

2025 - Net Tax \$7,454.00

2025 - Special Assessments \$450.00

2025 - Total Tax & Special Assessments \$7,904.00

Current Tax Due (as of 12/15/2025)

Due May 15		Due October 15	i	Total Due		
2025 - 1st Half Tax	\$3,952.00	2025 - 2nd Half Tax	\$3,952.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$3,952.00	2025 - 2nd Half Tax Paid	\$3,952.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

Parcel Details

Property Address: 9482 ANGUS RD, TOWER MN

School District: 2142
Tax Increment District: Property/Homesteader: -

Assessment	Details ((2025	Pavable	2026)

Assessment Details (2020)								
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
204	0 - Non Homestead	\$121,600	\$420,600	\$542,200	\$0	\$0	-	
233	0 - Non Homestead	\$40,500	\$137,000	\$177,500	\$0	\$0	-	
	Total:	\$162,100	\$557,600	\$719,700	\$0	\$0	8328	





St. Louis County, Minnesota

Date of Report: 12/16/2025 1:48:00 AM

Land Details

Deeded Acres:

Waterfront: **VERMILION** Water Front Feet: 126.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot Depth: 0.00

The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at

		Improveme	ent 1 Deta	ils (RESIDEN	CE)			
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc		
HOUSE	1982	2,10	06	3,146	- 2S - 2 STC			
Segment	Story	Width	Length	Area	Foundation			
BAS	1	0	0	66	FOUNDATION			
BAS	1	12	40	480	FOUNDAT	ΓΙΟΝ		
BAS	1	20	26	520	FOUNDAT	ΓΙΟΝ		
BAS	2	26	40	1,040	FLOATING	SLAB		
DK	1	0	0	70	POST ON GR	ROUND		
DK	1	8	16	128	CANTILE	VER		
DK	1	16	34	544	POST ON GR	ROUND		
Bath Count	Bedroom Co	unt	Room C	ount	Fireplace Count	HVAC		
2.0 BATHS	3 BEDROOM	MS	-		1	C&AIR_COND, GAS		
Improvement 2 Details (DET GARAGE)								
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Des		
GARAGE	0	67:	2	672	-	DETACHED		
Segment	Story	Width	Length	Area	Foundat	ion		
BAS	1	24	28	672	FLOATING SLAB			
		Improveme	ent 3 Deta	ils (OFFICE,S	HP)			
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Des		
GARAGE	1993	67:	2	672	-	DETACHED		
Segment	Story	Width	Length	Area	Foundation			
BAS	1	24	28	672	FLOATING SLAB			
		Improve	ment 4 Do	etails (HseStg)			
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Des		
TORAGE BUILDING	0	80)	80	-	-		
Segment	Story	Width	Length	Area	Foundat	ion		
BAS	0	8	10	80	POST ON GE	ROUND		
Improvement 5 Details (STORE/OFFC)								
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Des		
OFFICE	2018	78		780	-			
Segment	Story	Width	Length	Area	Foundat	ion		
	,					-		





St. Louis County, Minnesota

Date of Report: 12/16/2025 1:48:00 AM

		Improve	ement 6 Detai	ils (2000gal)				
Improvement Typ	e Year Built	•		ss Area Ft ²	Basement Finish	St	yle Code & Desc.	
0		2,0	2,000 2,0		-		-	
Segment Story		y Width	Width Length		Foun	dation		
BAS	0	0	0	2,000		-		
		Improve	ment 7 Detail	ls (DockStg)				
Improvement Typ					yle Code & Desc.			
STORAGE BUILDIN	NG 0	12	8	128				
Segme	nt Stor	y Width	Length	Area	Foun	dation		
BAS	0	8	16	128	FLOATII	NG SLAB		
		Sales Reported	to the St. Lo	uis County Au	ditor			
Sa	le Date		Purchase Pric	ce	C	RV Numb	er	
05	5/2017	\$1,735,000	(This is part of a r	multi parcel sale.)		221285		
		A	ssessment H	istory				
Year	Class Code (Legend)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	De Blo EN	lg Net Tax	
	204	\$121,600	\$407,700	\$529,300	\$0	\$0) -	
2024 Payable 2025	233	\$40,500	\$132,800	\$173,300	\$0	\$0) -	
	Total	\$162,100	\$540,500	\$702,600	\$0	\$0	8,082.00	
	204	\$121,600	\$407,700	\$529,300	\$0	\$0) -	
2023 Payable 2024	233	\$40,500	\$132,800	\$173,300	\$0	\$0	-	
·	Total	\$162,100	\$540,500	\$702,600	\$0	\$0	8,082.00	
	204	\$109,600	\$358,400	\$468,000	\$0	\$0) -	
2022 Payable 2023	233	\$36,500	\$116,800	\$153,300	\$0	\$0) -	
,	Total	\$146,100	\$475,200	\$621,300	\$0	\$0	6,996.00	
	204	\$115,300	\$311,700	\$427,000	\$0	\$0) -	
2021 Payable 2022	233	\$100	\$89,000	\$89,100	\$0	\$0	-	
	Total	\$115,400	\$400,700	\$516,100	\$0	\$0	5,607.00	
		<u> </u>	Γax Detail His	story	<u> </u>		I	
Tax Year	Tax	Special Assessments	Total Tax & Special Assessment		Taxable B d MV MV	_	Total Taxable MV	
2024	\$7,810.00	\$450.00	\$8,260.00	\$162,10	00 \$540,500		\$702,600	
2023	\$7,162.00	\$450.00	\$7,612.00	\$146,10	0 \$475,2	\$475,200		
2022	\$6,106.00	\$450.00	\$6,556.00	\$115,40	0 \$400,7	\$400,700		

3 of 4





St. Louis County, Minnesota

Date of Report: 12/16/2025 1:48:00 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.